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(KBRFF) 112 - 78 138 - 103 142 = 19| P 392 = 300
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| ) —
JLVIRU=0ST Al | g O 3-4 O 5-4|co-14 3
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. 0 -3 2 -1 0 -3 2 - 1|M 4 -8
BREER X 0-6lQ 4-2 X 1-6|Q 4-2|c|9-16] 3
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- — 0 -3 3-0 3-0 2 - 1|mM| 8 - 4
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— 0 -3 3 -0 3 -0 3-0|M9 -3
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Ko7 C O 4-2| X 3-4f X -s5leo -1 3

(ZERB) 115 - 101 112 132 147 - 149| P 374 382
" 1 -2 0 3 1-2|mM 2 7
FpOvhB X 2 - 4 X 1 -6 X 2-4|cg 5-14 4
(KBRAT) 101 - 115 107 146 89 - 103| P 297 364
ssLes 2 -1 3 -0 2 - M 7 2
J1E49—B O 4-3] O 6-1 O 4-2|cs-6 1
(KBRAF) 132 - 112 146 - 107 106 — 91| P 384 310
2 -1 2 -1 1 2 M 5 4
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